mn P P m( O Wie)  m(fWier)  (p™)2/St Total bkgd.  Nobs DY Ae VBF Ae
(Gev) (GeV) (GeV) (GeV) (GeV) (Gev) (%) (%)
p#y channel SR1
85 >25  >10 >90 40-100 <9 260+£63 30 0.50 +0.05 —
90 >25  >10 >90 45-105 <9 345+75 35 12+0.1 —
100 >25  >15 >110 55-115 <9 186+42 20 26+£02 —
125 >25  >25 >140 85-140 <7 11.7+£27 12 51+£04 —
150 >35  >35 >150 110-170 <7 89+19 11 6.6+05 —
200 >50  >40 >250 160-215 <7 46+12 4 8.1+0.6 —
250 >85  >45 >310 215-270 <7 30£09 2 11.0+0.8 —
300 >100  >50 >370 225-340 <7 26£10 2 13.2£09 52+04
400 >110  >60 >490 295-490 <7 09+04 3 11.7+08 51+04
500 >110  >60 >610 370-550 <7 04+ 56 3 8.6+0.6 41+03
600 >110  — >680 370-630 <7 03103 3 74+05 41403
700 >110  — >800 370-885 <7 02103 2 6.7 +£04 39+03
800 >110  — >800 370-890 <7 02103 2 6004 5403
900 >110  — >800 370-1225 <7 03103 2 54404 50403
1000 >110  — >800 370-1230 <7 03104 2 46+03 42403
1100 >110  — >800 370-1245 <7 03 %04 2 41+03 38+03
1200 >110  — >800 370-1690 <7 03104 2 3.6+0.2 34403
1300 >110  — >800 370-1890 <7 03103 2 32402 3.0+02
1400 >110  — >800 370-1940 <7 03103 2 27402 2.7£02
1500 >110  — >800 370-2220 <7 03193 2 25+02 23+02
#p channel SR2
85 >25  >10 — — <15 114+£35 13 0.001=£0.001 —
90 >25  >10 — 90-170 <15 41+13 4 0.003 £ 0.003 —
100 >25  >15 — 98-145 <15 1.0£03 0 0.006 == 0.003 —
125 >60  >15 — 110-150 <15 08+03 0 0.08 +0.01 —
150 >70  >15 — 145-175 <15 1.0+04 2 0.28 +£0.04 —
200 >100  >20 — 175-235 <15 13+08 0 14+0.1 —
250 >140  >25 — 226-280 <15 03+02 0 3.0+03 —
300 >140  >40 — 280-340 <15 04+03 0 54+05 0.7£0.1
400 >140  >65 — 340-445 <15 05+£03 2 133+13 27403
500 >140  >65 — 445-560 <15 08+05 0 224+22 6.8+0.7
600 >140  — — 560-685 <15 07+£04 0 30229 204+18
700 >140 — — 635-825 <15 08+£04 2 34634 247 £22
800 >140 — — 755-960 <15 04+03 0 34.8+35 249+23
900 >140  — — 840-1055 <15 02192 1 35.8 £ 3.6 269 +2.5
1000 >140 — — 900-1205 <15 017+o7 1 384+39 289427
1100 >140 — — 990-1250 <15 017+ 5% 1 36.7£3.7 292427
1200 >140  — — 1035-1430 <15 02193 1 38.5+4.0 30.1+2.8
1300 >140  — — 1100-1595 <15 03+£03 1 38.5£4.0 30.7£3.0
1400 >140  — — 1285-1700 <15 017152 1 359+3.8 29.4+28
1500 >140 — — 1330-1800 <15 017192 1 36.4+3.9 30.0+29



